M. 55 et 75
1. [E RAERHELR R

(1) 7wk A (A EV 1 3
(A T, %)

X 4 EIZEFZEYETE%@?% ﬂ?ﬁiﬁeﬁ&f%%ﬂ%% 4 $i
T A OB | WAk | v OB R | MRk | B [ R
5FE R O B & B OBil 3,340,830 21.9| 3,121,920 23.9 218,910 7.0
108 H B & O F BB 30 0.0 30 0.0 — —
15 B X W 4| 2,725,810 17.9] 2,654,630 20.4 71,180 2.7
200 & A B FE XA & 288,130 1.9 464,140 3.6 A 176,010 A 37.9
23 /7 W | M EH R AT & 2,946,170 19.3] 2,803,620 21.5 142,550 5.1
25 Wk 53 H & 664,350 4.4 721,130 5.5 A 56,780 A 7.9
303 W H % &L fF 4| 3,237,180 21.2| 1,081,400 8.3 2,155,780 199.4
35 it PE I A 10 0.0 10 0.0 — —
40 4 A 4| 2,033,530 13.3] 2,162,560 16.6] A 129,030 A 6.0
45 & el & 5,000 0.0 5,000 0.0 — —
50 7t I A 28,360 0.2 23,660 0.2 4,700 19.9
o 7t 15,269,400 100.0[ 13,038,100 100.0| 2,231,300 17.1
(2) 7wk H (A EV x93
(A T, %)

% sy R TR W) TR | SRR 264 M) TR 54 i
T OB OB | MERRME | T OB OBE | MERKEE | B DR A | HEECRE
2y % # 238,880 1.6 253,320 1.9] A 14,440 A 5.7
0% Bk | 8,939,090 58.5| 8,670,000 66.5 269,090 3.1
11 % W & e & 3% & % 1,895,150 12.4] 1,859,800 14.3 35,350 1.9
12 /7 #] & s & WA & F 1,150 0.0 2,150 0.0 A 1,000 A 46.5
15 N & i & 80 0.0 80 0.0 — —
7 #E M & 709,720 4.6 780,320 6.0 A 70,600 A 9.0
20 J& [ O# ¥ L 4| 3,307,060 21.7| 1,303,530 10.0] 2,003,530 153.7
26 . H=H X 150,100 1.0 141,730 1.1 8,370 5.9
30 & M O & 60 0.0 60 0.0 — —
35 /A & # 10 0.0 10 0.0 — —
40 7% X tH 4> 18,100 0.1 17,100 0.1 1,000 5.8
45 ¥ fisi # 10,000 0.1 10,000 0.1 — —
o 7 15,269,400 100.0[ 13,038,100 100.0| 2,231,300 17.1
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VANNEIRN =Y
(AL T %)

% 4 ?%ﬁ?ﬁfﬁ%%ﬂ%ﬁ Ilzﬁii6$}§%@?% t\t‘ $i
T AR | WAk | v OB O | MRk | B [ BEECE
T £ A O ) = W N 70 0.0 170 0.0 A 100 A 58.8
10 M H B & Y F B 2,102,240 41.8| 2,065,590 28.3 36,650 1.8
15 X W & 977,660 19.5| 2,501,880 34.3| A 1,524,220 A 60.9
25 & A 4| 1,150,550 22.9| 2,063,570 28.3| A 913,020 A 44.2
30 ik & 5,000 0.1 5,000 0.1 — —
35 & I A 25,080 0.5 90 0.0 24,990| 27,766.7
40 i f& 764,400 15.2 662,500 9.1 101,900 15.4
o at 5,025,000 100.0| 7,298,800 100.0{ A 2,273,800| A 31.2
(2) % i (A B 380
(AL T, %)
% 4 WERR2THRFEN Y TR | R 26 M W) TR |54 L%
TR R | WAL | T B OBE | AERKEL | MY B0 BR[| AR
5 & % #| 1,930,490 38.4| 2,084,730 28.6| A\ 154,240 A 7.4
10~ K B F OEX B 628,590 12.5 529,810 7.3 98,780 18.6
3% = %\ H  #E| 1,031,950 20.5| 3,641,460 49.9| A 2,609,510 A 71.7
15 2 i # 1,432,970 28.5| 1,041,800 14.3 391,170 37.5
20 T fi # 1,000 0.0 1,000 0.0 — —
7 i 5,025,000 100.0| 7,298,800 100.0{ A 2,273,800] A 31.2
3. EEHI /AN
(1) % A (A FD T W)
(AL T %)
% N ﬁﬁiﬁ%&*%%}ﬁ% %ﬂ‘z%ﬁfﬁ%%ﬂ?%ﬁ t\t‘ ;ﬁi
T A B | MRk | T A B | MRk [ HE R ZH | HEIRCE
58 M B kY FE KB 207,640 29.6 163,680 32.1 43,960 26.9
7 PE I A 1,850 0.3 790 0.2 1,060 134.2
10 # A 4 312,140 44.5 345,980 67.7] A\ 33,840 A 9.8
15 # ik & 100 0.0 100 0.0 — —
20 &6 I A 170 0.0 150 0.0 20 13.3
25 i & 180,100 25.7 — — 180,100 54
7 7 702,000 100.0 510,700 100.0 191,300 37.5
(2) % i (A B 380
(HAZ T, %)
% N R 2T W) TR | SRR 264 M) TR b i
TR OB | MEARIE | T OB OBE | MERKEE | B DR A | HEECRE
S o # 108,570 15.5 113,280 22.2 A 4,710 A 4.2
102 M & H F ¥ & 592,430 84.4 396,420 77.6 196,010 49.4
20 T fisi # 1,000 0.1 1,000 0.2 — —
o 5 702,000 100.0 510,700 100.0 191,300 37.5
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4. IrERER (RIS TE)

(1) % A (A EDIE )
(HAr T, %)

% N ﬁﬁiﬁ%&*%%ﬂ%kﬁ ¥5236$f§%%ﬂ?% t\l:\ $§
T A B | MRk | T R B | MRkEb [ 0 BH | HEIECE
55 # R B B 1,505,600 25.3| 1,307,660 22.6 197,940 15.1
15 B X W 4| 1,088,350 18.3] 1,059,350 18.3 29,000 2.7
20 W& 53 tH 4 837,600 14.1 811,520 14.0 26,080 3.2
25 3 A X & & & 1,578,070 26.5| 1,579,190 27.3] A 1,120 A 0.1
27 PE I A 530 0.0 530 0.0 — —
30 it A 4 945,150 15.9] 1,018,160 17.6] A 73,0100 A 7.2
35 it ik 4 1,000 0.0 1,000 0.0 — —
45 I A 100 0.0 90 0.0 10 11.1
7 g 5,956,400 100.0| 5,777,500 100.0 178,900 3.1
(2) % H (A EDE )
(HHr TH, %)

% 4 WERR2THRFEEN W) TR | R 26 Y W) TR ke 2
T OE ORA | WAL | T B BE | AERKEL | B§ DR AE | IR
5 f& % # 195,650 3.3 210,100 3.6] A 14,450 A 6.9
0% BB & £ #| 5,581,700 93.71 5,395,220 93.4 186,480 3.5
20 1 Wk OB F ¥ B 167,390 2.8 160,720 2.8 6,670 4.2
25 & MH I & 4,660 0.1 4,460 0.1 200 4.5
35 & 53 H & 2,000 0.0 2,000 0.0 — —
40 T fii # 5,000 0.1 5,000 0.1 — —
7 g 5,956,400 100.0| 5,777,500 100.0 178,900 3.1
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5. SEEIRIR (ST — B A5 26 E)

(1) % A (A BT )
(HAr T %)

X 4 ?@yﬁﬁ%%%ﬁ ﬁ@%&ﬁ%@%ﬁ 4 &

T A R | MAUE | T B OB | MEAUE | M BR[| EeE
5% — v 2 Ix A 717,280 58.6 715,400 58.0 1,880 0.3
10 f A 4> 503,700 41.2 515,380 41.8] A 11,680 A 2.3
15 # el & 500 0.0 500 0.0 — —
20 # I A 1,720 0.1 1,720 0.1 — —
= g 1,223,200 100.0| 1,233,000 100.0] A 9,800 A 0.8
(2) % t (A BT
(AT T, %)

% N ER2TAEEE LW T R | SRR 264F R Y P TR ke i

T OB OB | MAUE | T R B | MERE | B O B | HEeER
5 f& % # 59,290 4.8 94,500 7.71 A 35,210 A 37.3
10 = ¥ # 930,280 76.1 904,870 73.4 25,410 2.8
15 22 f& # 232,630 19.0 232,630 18.9 — —
20 T fisi # 1,000 0.1 1,000 0.1 — —
= Gl 1,223,200 100.0| 1,233,000 100.0] A 9,800 A 0.8

6. %I = R

(1) % A (A BT )
(A T %)

X 4 ?@yﬁﬁ%%%ﬁ ﬁ@%&ﬁ%@%ﬁ 4 &

T A R | MAUE | T B OB | MEAUE | M 0 BR[| HEeE
5 % Wl & A E R DR BB 910,600 84.5 851,270 84.1 59,330 7.0
108 H B & O F & B 10 0.0 10 0.0 — —
12 IS SN & | R 9,430 0.9 — — 9,430 g
15 # A 4> 150,220 13.9 153,980 15.2] A 3,760 A 2.4
20 #k el & 3,000 0.3 3,000 0.3 — —
25 7 I A 4,340 0.4 4,340 0.4 — —
= g 1,077,600 100.0| 1,012,600 100.0 65,000 6.4
(2) % t (A BT )
(A T %)

% N ER2TAEEE LW T R | SRR 264F R Y P TR ke i

T OB OB | MAUE | T R B | MERE | B O B | HEeER
5 f& % # 67,050 6.2 63,350 6.3 3,700 5.8
10 #4301 55 i 5 R LS e A A+ 4 1,007,050 93.5 945,750 93.4 61,300 6.5
15 # 53 i 4> 2,500 0.2 2,500 0.2 — —
20 T fisi # 1,000 0.1 1,000 0.1 — —
= Gl 1,077,600 100.0| 1,012,600 100.0 65,000 6.4
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